
 
 

 

 2022חורף  482שאלון  סופיפתרון   

 1שאלה 

 3a 62 =א.  

 d = 14    ,34=  1aב.  

 20+14nn a = .1ג

 . הסבר.2ג

 היא מספר זוגי. 2כפולה של      

 20,278ד. 

 

 2שאלה 

 10.392גובה התיבה:    א. 

 AD = 6  ,  AB = 6.928   ב.

 BF = 7.55  .1ג

 EBF = 34.536°∢. 2ג

 

 3שאלה 

 )  ,  ((1 , 0  .א
2𝜋

3
 , −

1

2
 )  

, max      ,(𝜋 (1 , 0). 1ב −1) min 

, max (0 , 1)   ,   𝜋. 2ב 1) max (      ,min (
𝜋

2
 , −1) 

 

 

 

 

 

 



 
 

 

 ג.

 

 a = 4.  ד

 

 4שאלה 

 xכל  א. 

C = −8  ב.
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 S2S,    1S=S<ו. 

 

 

 



 
 

 

 5שאלה 

 ≠ x > 0    ,xא.  
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 < x   ד.  תחומי עליה: 
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 > x >   תחומי ירידה:     
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 IVה.  גרף 

 > x >  ו.
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